
Subject: Re: IP ping works, DNS IP ping doesnt work
Posted by oliver on Fri, 16 Nov 2007 13:38:27 GMT
View Forum Message <> Reply to Message

hi, 

thanks so far for the replay.

I am using for example 193.24.208.126

And for nsswitch.conf:

# cat /etc/nsswitch.conf
# /etc/nsswitch.conf
#
# Example configuration of GNU Name Service Switch functionality.
# If you have the `glibc-doc-reference' and `info' packages installed, try:
# `info libc "Name Service Switch"' for information about this file.

passwd:         compat
group:          compat
shadow:         compat

hosts:          files dns
networks:       files

protocols:      db files
services:       db files
ethers:         db files
rpc:            db files

netgroup:       nis

# ping google.com

# host google.com 193.24.208.126
Using domain server:
Name: 193.24.208.126
Address: 193.24.208.126#53
Aliases:

google.com has address 72.14.207.99
google.com has address 64.233.167.99
google.com has address 64.233.187.99
google.com mail is handled by 10 smtp4.google.com.
google.com mail is handled by 10 smtp1.google.com.
google.com mail is handled by 10 smtp2.google.com.
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google.com mail is handled by 10 smtp3.google.com.

#ping 72.14.207.99
PING 72.14.207.99 (72.14.207.99) 56(84) bytes of data.
64 bytes from 72.14.207.99: icmp_seq=1 ttl=240 time=113 ms
64 bytes from 72.14.207.99: icmp_seq=2 ttl=240 time=113 ms
64 bytes from 72.14.207.99: icmp_seq=3 ttl=240 time=113 ms
64 bytes from 72.14.207.99: icmp_seq=4 ttl=240 time=112 ms

--- 72.14.207.99 ping statistics ---
4 packets transmitted, 4 received, 0% packet loss, time 2998ms
rtt min/avg/max/mdev = 112.961/113.283/113.619/0.505 ms

Regards

Oliver
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